Exposure Value (EV) Table, ISO 100

Aperture f-number, Nf = f/

(l/sec)| 1 | 14 | 2 | 28| 4 |56 | 8 11 | 16 | 22 | 32 | 45 |64
1f O 1 2 3 4 5 6 7 8 9 10 11 |12
2 1 2 3 4 5 6 7 8 9 10 11 12 |13
4| 2 3 4 5 6 7 8 9 10 11 12 13 | 14
8] 3 4 5 6 7 8 9 10 11 12 13 14 | 15
15| 4 5 6 7 8 9 10 11 12 13 14 15 | 16
30| 5 6 7 8 9 10 11 12 13 14 15 16 | 17
60| 6 7 8 9 10 11 12 13 14 15 16 17 |18
125) 7 8 9 10 11 12 13 14 15 16 17 18 | 19
250 8 9 10 11 12 13 14 15 16 17 18 19 | 20
500 9 10 11 12 13 14 15 16 17 18 19 20 | 21
1000| 10 11 12 13 14 15 16 17 18 19 20 21 | 22
2000 11 12 13 14 15 16 17 18 19 20 21 22 | 23
4000 12 13 14 15 16 17 18 19 20 21 22 23 | 24
Av Aperture Value, top row of data for t = 1 shows aperture values (Av) from 0 to 12
Tv Time Value, left-most column of data for f/ = 1 shows time values (Tv) from 0 to 12
EV Exposure Value, EV = Av + Tv




